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Dear Students,

As the festival of lights approaches, we extend our warmest wishes to you and your families for a joyous and
prosperous Diwali. May this Diwali bring new light into your lives, illuminating your hearts with happiness,
health, and success.

Let us celebrate this Diwali by spreading joy and kindness, embracing the spirit of togetherness, and sharing the
festive cheer with everyone around us. Remember to stay safe and make the most of this beautiful festival with
your loved ones.

Happy Diwali!
Please note the following points-
1 There will be holiday from 30™ October to 3™ November 2024 on account of Diwali.
1 School Timings from 4™ November 2024 will be 8:50a.m. to 2:50 p.m.
'] Parents are requested to submit pending dues.
"1 Please find the attachment.
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Subject-Maths
SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. (a) Find the sum of first 30 terms of AP : —30, —24, — 18, ..... . 2
OR
(b) Inan AP if S, = n (4n + 1), then find the AP. 2
2. A solid metallic sphere of radius 10-5 em is melted and recast into a
number of smaller cones, each of radius 3-5 em and height 3 cm. Find the
number of cones so formed. 2

3. (a) Find the value of m for which the quadratic equation
m=1)x2+2(m=-1)x+1=0

has two real and equal roots. 2
OR
(b) Solve the following quadratic equation for x : 2

V3x24+10x+7/3 =0

4. Find the mode of the following frequency distribution : 2

Class 10 =20 20-=30 30 =40 40 =50 50 =60
Fregquency 15 10 12 17 4




The product of Rehan’s age (in wyvears) 5 yvears ago and his age T vears
from now, is one more than twice his present age. Find his present age.

Two concentric circles are of radii 4 em and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.

SECTION B

QRQuestiorn nuwmbers 7 fto IO carry 3 marks eaclfi.

7.

10.

For what value of x, is the median of the following frequency distribution
34-5 7

Class Freguerncy
O — 10 3

10 — 20 5

20 — 30 11

30 —a40 10

40 — 50 =

S50 — 60 3

G0 —TO0 =2

Draw a circle of radius 3 cm. Take two points P and Q@ on one of its
extended diameter each at a distance of T cm from its centre. Construct
tangents to the circle from these two points P and Q.

(a)

(b}

The angle of elevation of the top of a building from the foot of the
tower is 30° and the angle of elevation of the top of the tower from
the foot of the building is 60°. If the tower is 50 m high, then find
the height of the building.

OR
From a point on a bridge across a river, the angles of depression of
the banks on opposite sides of the river are 30° and 45°
respectively. If the bridge is at a height of 3 m from the banks,
then find the width of the river.

Following is the daily expenditure on lunch by 30 emplovees of a
cCoOmpany :

Dailv Expenditure Nwurmber of
(inn Rupees) Emplovees
100 — 120 =]
120 — 140 3
140 — 160 8
160 — 180 (57
180 — 200 5

Find the mean daily expenditure of the emplovees.

SECTION C

QRuestion numbers IT to T4 carry 4 marks eacf.

11.

Ca)

(b}

From a solid cylinder of height 30 cm and radius 7 em, a conical
cavity of height 24 cm and same radius is hollowed out. Find the

total surface area of the remaining solid.

OoOR
Water in a canal, 8 m wide and 6 m deep. is flowing with a speed of
12 kmvhour. How much area will it irrigate in one hour, if 0-05 m

of standing water is required ?



12,

13.

1.

In Figure 1, a triangle ABC with -~ B = 90° is shown. Taking AB as
diameter, a circle has been drawn intersecting AC at point P. Prove that
the tangent drawn at point P bisects BC.

A
| 5
O+
D Y =
Q
Figure 1

Case Study — 1

In Mathematics, relations ecan be expressed in warious ways. The
matchstick patterns are based on linear relations. Different strategies
can be used to calculate the number of matchsticks used in different
figures.

One such pattern is shown below. Observe the pattern and answer the

following questions using Arithmetic Progression :

/Q\ /z;\/_\-\ P i o i o -
\I_l/ \I_l I/ \| I_I_I/ ________
N SN NN
Figure 1 Figure 2 Figure 3

(a) Write the AP for the number of triangles used in the figures. Also,
write the n'™ term of this AP.

(b) Which figure has 61 matchsticks ?

Case Study — 2

Gadisar Lake is located in the Jaisalmer district of Rajasthan. It was
built by the King of Jaisalmer and rebuilt by Gadsi Singh in 14th century.
The lake has many Chhatris. One of them is shown below :

Observe the picture. From a point A A m above from water level, the
angle of elevation of top of Chhatri (point B) is 45° and angle of
depression of its reflection in water (point C) is 60°. If the height of
Chhatri above water level is (approximately) 10 m, then

(a) draw a well-labelled figure based on the above information;

(b) find the height (/&) of the point A above water level.
(Use /3 = 1-73)
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(Social science

Q.1 . A political party is an association of:

(a) people. (b) children. (c) parties. (d) none of the these
2. The clearly visible institutions of a democracy are:

(a) people. (b) societies. (c) political parties (d) pressure groups
Q.3 . Without the political parties, the utility of the government will remain:

(a) uncertain. (b) powerful (c) peaceful (d) None of these
4. Parties are a necessary condition for a:

(a) democracy (b) dictatorship (c) authoritarian. (d) none of these
5. In a democratic country, any group of citizens is free to form:

a) Political party (b) society (c) religion. d) none of these
Q6. i, is an organised group of persons who come together to contest election and try to hold power in
government.

(a) a political party b) Democracy (c) Parliament. d) None of these
7. The political parties of a country have a fundamental political

(a) division. (b) choice. (c) support. d) power
8. Members of ruling party follows the directions of:

(a) people. (b) party leaders (b) pressure groups. (d) None of these

9. Which of the following statements are true about political parties?
(a) The proportion of those who said they were members of some political party was lower in India than in many
advanced countries like Canada, Japan.
(b) Over the last three decades, the proportion of those who report to be members of political parties in India has gone
down steadily.
(¢) The proportion of those who say they feel close to a political party has gone down in India
(d) None of these
10. National parties have their units in various states, but by and large, all these units follow the same policies,
programmes and strategy that is decided at the
(a) national level. (b) state level (c) district level.  (d) village level
11. A party that secures at least six per cent of the total votes in an election to the legislative Assembly of a state and wins
at least is recognised as a state party.
(a) two seats. (b) three seats. c) one seat d) four seat



12. Which is a recognised political party
(a) A party that is present in only one of the federal units.
(b) A party that is based on regional and commercial diversities.
(c) A party that is recognised by the "Election Commission' with all the privileges and facilines
(d) A party that is present in several and all units of the federation.
13. According to the given classification, there were national recognised parties ?

(a) seven. (b) six c) five d) ten
16 . Many of the pressure groups are extensions of society.

a) government b) legislature (¢) political parties. (d) bureaucracy
14. We can judge democracy by its:

(a) people. b) outcomes. (c) political parties
15. People feel that democracy is better as it promotes:

a)Equality. b) freedom. c) dignity. d) All of these
16.. The successful democracy needs:

(a) right to vote. b) Freedom (c) periodic elections  d) all of these
17. People should be vigilant and participate actively in the process of:

(a) Governance. b) representation (c) choosing party. d) All of these
18. The political parties and democratic government is accountable to:

(a) people. (b) world (c)Society. d) None of these
19. Democracy even ensures the decision-making based on:

(a) norms b) procedures. (c) both(a) and(b). (d) none of these
20. In democracy, we do come across evil practices, such as:

(a) corruption. (b) favourites c¢) both a and b

21. Which of the following statements are true about Democratic Government?

(a) Democratic Government is a legitimate Government

(b) Democratic Government may be slow, less efficient, and not always very responsive or clean.
(c) Democratic Government is the people's own Government.

(d) All the above

22. Which of these factors play a role in the economic development of a country?

a) Cooperation from other countries b) Size of the population

(c) Economic priorities adopted by the Government (d) All of the above

23. The rates of economic growth for different countries from 1950 to 2000 was highest among.......
(a) All democratic regimes (b) Poor countries under democracy

(c) Poor countries under dictatorship (d) All dictatorial regimes

Q.24 How does democracy accommodates social diversity?
Q.25. Describe the main features of dictatorship.
Q.26.Analyse the components of a political party.

Q27. Why do we need political parties?

Q.28. Examine the working of Political Parties.

Map skill

On the same outline map of India locate and label of the following with suitable symbols.

A. A Coal mine in Tamil Nadu B. A dam built on river Chenab.

C. A large natural major seaport located at Andhra Pradesh D. Noida software technology park
E. Hirakud Dam F. Tarapur Atomic Power Station

G. Noida Software Technology Park H. Kochi Port

I. Indira Gandhi International Airport J. Kakrapara - Atomic Power station.
K. Hyderabad - Software Technology Park L. Kandla Sea Port

M. Rana Pratap Sagar N. Singrauli Thermal Plant

0. Gandhinagar Software Technology Park P. Paradip Port

English
Q.1 Answer of the following two questions in 100-120 words.

(a) Grief or sadness is an emotion natural to all types of loss or significant change. You have been asked to present an
analysis of the approaches of Lencho and Kisa Gotami in dealing with their respective losses. Write this
presentation draft including your insights, and comparing the approach of both.

You may begin like this: One acknowledges that Lencho had unwavering faith in God whereas Kisa Gotami in her
grief ,believed that herson ........... however............
(Reference-A Letter to God and The Sermon at Benarares)
OR



(b) You have been chosen to address the school assembly on the occasion of Women's Day. You choose to speak on
the resilience and indomitable spirit of the young girls: Anne Frank and Valli. Prepare the speech draft, with
reference to the commonality and contrast in the situations and circumstances of both the girls.

(Madam Rides the Bus and From the Diary of Anne Frank)
You may begin like this: Good morning everyone. Today, I'd like to express my insights on the resilience of two
young girls............... .
You may end this way: To conclude I'd like to say that............ .
Thankyou.
OR
(¢) You have been chosen to address the school assembly, to speak on the epistemology of loss and the resilience of

the human spirit during times of crisis. Prepare the speech draft, with reference to the commonality of themes in
“The Ball Poem’ by John Berryman and ‘From the Diary of Anne Frank’
You may begin this way:
Good Morning everyone.
Today, I'd like to discuss two pieces of literature that offer a powerful insight into how to deal with loss and the
resilience of the human spirit required during times of crisis.
You may end this way:
To conclude, I'd like to say that...... . Thankyou

Q.2 Answer the following two questions in 100-120 words.

(a) A character arc is the transformation or development of a character throughout a story and refers to the changes a
character undergoes as a result of his/her experiences, challenges and interactions with others character.
In the light of the above information, trace the character arc of Bholi in K.A.Abbas's ‘(Bholi).

(b) Imagine that Bholi writes a diary entry, exploring the themes of ‘Girl Child’ and ‘Impact of Education’, in the
context of her own experiences.

Write this diary entry, as Bholi.
Q.3 Answers the following questions in 40-50 words each.

(a) In every alternate stanza,Amanda drifts into fantasy and yearns for more than freedom and silence. Justify and
elaborate the reason.

(b) Coorg has been defined as a ‘piece of heaven’ by the writer. Justify.

(c) The Author says- ‘During our childhood in God ,the baker used to be our friend, companion and guide.” Elaborate.

(d) Maxwell decides to keep an Otter as a pet. Elucidate with reference to the fact that owning a pet is a life of

commitment.
(e) Do you think you can love a person for his/her inner beauty alone and not care about the physical appearance?
Justify with reference to the theme of the poem ‘For Anne Gregory’.
(f) What did Valli find out about the bus journey? How did she find out these details?
Q.4 Answer the following questions in 40-50 words each.

(a) How can one say that Ebright curiosity/ inquisitiveness drove him to become a scientific ?

(b) “ Horace Danby is a thief who cheated by another thief.” Justify.

(c) Despite his unusual appearance, Ausable's presence of mind helped him get rid of Max.Comment with reference

to the story “ The Midnight Visitor”.

(d) Mention any two of Ebright's contributions to the world of science?

Q.5 Read the following extracts and answer the questions .

(a) For the first twenty-four hours, Mijbil was neither hostile nor friendly; he was simply aloof and indifferent,
choosing to sleep on the floor as far from my bed as possible. The second night Mijbil came on to my bed in the
small hours and remained asleep in the crook of my knees until the servant brought tea in the morning, and during
the day he began to lose his apathy and take a keen, much too keen, interest in his surroundings. I made a
body-belt for him and took him on a lead to the bathroom, where for half an hour he went wild with joy in the
water.

(1) Which of the following is not a reason why Mijbil came on to Maxwell's bed in the small hours?

(A)He had started taking interest in his surroundings.

(B)He was becoming friendly with Maxwell.

© He wanted to play with Maxwell on his bed.

(D) He wanted to feel safe and not remain indifferent.
(2)Maxwell says that Mijbil was neither hostile nor friendly, he was simply aloof and indifferent for the first twenty four
hours. Give reasons in not more than 40 words.

3) Read the following descriptions and identify which one correctly corresponds to the extract.
g p y y p
(A) Owning a pet is tedious and needs commitments.
(B) A pet needs his own space and time to get adjusted to his owner's environment.



(C) Maxwell decided to bring Mijbil because he was very sad to lose his dog.
(D) Maxwell and Mijbil loved travelling.
(4) Which characteristics traits of otters is revealed when Mijbil is taken to the bathroom.

Science
Section - A

(1) Define magnetic field lines.

(2) Define far point of eye and power of accommodation.

(3) How does binary fission differ from multiple fission.

(4) State right hand thumb rule .

(5) Why does the sky appear dark instead of blue to an astronaut .
Section - B

(1)Explain magnetic field due to a current in a solenoid .

(2) Explain why the planets don’t twinkle.

(3)What is the importance of DNA coping in reproduction ?

(4) List the properties of magnetic lines of force.

(5)How will an organism be benefitted if it reproduces through spores
Section C

(1) Explain force on a current carrying conductor in a magnetic field.

(2) Define dispersion of light and septrum.

(3) How a rainbow is formed.

(4) How is the process of pollination different from fertilisation?

(5) Explain magnetic field due to a current through a circular loop.
Section D

(1) Explain the structure of human eye.

(2) Explain the fertilisation in a flowing plant.

(3) Explain the defects of eye in detail.

(4) Draw magnetic field pattern for bar magnet. Explain kick wire experiment briefly.

(Biology and Chemistry)
Section A: Multiple Choice Questions (MCQs)
Q1. Which of the following is not a method of asexual reproduction in plants?

a) Fragmentation b) Budding ¢) Seed formation d) Spore formation
Q2. Vegetative propagation refers to:

a) Reproduction through seeds b) Growth from a part of the plant

¢) Spore formation d) Fusion of gametes

Q3. Bryophyllum reproduces through:

a) Roots b) Stem cuttings c) Leaves d) Flowers
Q4. Asexual reproduction results in:

a) Genetic variation b) Offspring identical to parents

c) Formation of zygote d) Cross-pollination

Q5. Which of the following is an example of artificial vegetative propagation?

a) Grafting b) Spore formation c¢) Budding d) Binary fission
Q6. In spore formation, the structure that produces spores is called:

a) Sporangium b) Anther ¢) Pollen d) Ovary

Q7. The process in which a single parent gives rise to new individuals is known as:

a) Sexual reproduction b) Asexual reproduction

c) Fertilization d) Pollination

Q8. Which plant reproduces asexually through runners?

a) Rose b) Mint ¢) Onion d) Potato

Q9. The small bulb-like projections involved in budding are called:

a) Spores b) Buds c) Tubers d) Corms

Q10. The main advantage of vegetative propagation is:
a) Genetic diversity b) Large number of seeds



¢) Short time for reproduction d) Increased variation in plants
Q11. Which method of reproduction is found in yeast?
a) Budding b) Fragmentation c) Spore formation d) Binary fission

Ql2.

The potato tuber reproduces by:

a) Seeds b) Stem c) Leaves d) Buds

Q13.

Which of the following methods does not involve sexual reproduction?

a) Fertilization b) Pollination c¢) Fragmentation d) Gamete formation

Ql4.

Which of the following is a natural method of vegetative propagation?

a) Cutting b) Layering c) Grafting d) Bulb
Q15. What type of reproduction takes place in algae like Spirogyra?
a) Binary fission b) Fragmentation c¢) Budding d) Grafting

Q16.
Q17.
Q18.
Q109.
Q20.

Q21.

Q22.

Q23.
Q24.

Q25.
Q26.

Q27.
Q28.
Q29.

Section B: Short Answer Questions
Define asexual reproduction. How is it different from sexual reproduction?
Describe the process of spore formation in fungi.
How does vegetative propagation occur in Bryophyllum?
What is grafting, and how is it beneficial in plant reproduction?
Explain how artificial vegetative propagation is performed by cutting.
Give two advantages of asexual reproduction in plants.
Section C: Short Answer Questions
Explain how vegetative propagation occurs in a potato.
Describe the process of budding in Hydra. How is it similar to budding in yeast?
What are the different types of asexual reproduction in plants? Give examples.
Why is vegetative propagation preferred for growing some types of plants? Mention two examples.
Describe fragmentation and give an example of an organism that reproduces using this method.
Section D: Long Answer Questions
Explain the process of tissue culture and its importance in modern agriculture.
Describe the various methods of natural vegetative propagation in plants with examples.
Discuss the advantages and disadvantages of asexual reproduction in plants compared to sexual reproduction.



